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Geametry 2: Trigonometry

Unit Review

G.SRT.6 Learning Target: Undersiand that by
similarity, side ratios in right triangles are properties of
the angles in the triangle, leading to definitions of
irigonometric ratios for acitte ratios.
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1) Given the following trig ratios, what is the length
of AC?

Name

$= 39

2). Complete the following trig ratios for aACB

Answer: ( A =29
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3) Given AABO ~ AKLJ . If the cos A = 0.6 and JK

= 20, what is the
length of LK? L 2 ”
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4) Darren started with a 5-12-13 right triangle
(aHKI ) and then reflected it horizontally to get

a congruent triangle, aJK7. The length of HK
is 5 cm.
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Then, Darren claimed the following:

- Since HK is 5 ¢cm, then JK is also 5 ¢cm. @
and Kl is 12 cm.
- Using the Pythagorean Theorem, the length (%)

of Hl and JIis 13 cm.

- Thelength of HJ is 10 cm. ()2

- Therefore, tan ( LIHK ) = l% =0.42
(rounded) /_— o _ iz
Tan(2h) = £ = =

Sadly, Darren went wrong soméwhere in hi
assumptions. Find his mistake and correct it.
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